0008 00'0% 00°0% 00°0% 00'0% 00'0% solpisqng A sojusauo) soNO vd
00°0% 00°0% 0008 00°0% 00°0$ 00°0$ uoieufiiseay ap souBAUOD €8
0008 0008 00°0$ 0003 0008 00°0$ UQIIBZIEI|UBISAQ 8P SOUSAUOD 'Z8
00°08 0008 0008 00038 00°0% 000% PNIES UB [BI20S UQIDIBI0Id 8P SOUBAUOD *LE
00'0% 00°0% 00°0% 00°0% 00°0% 00°0% solusauo) g
0008 00°0$ 0008 0003 00°0% 0008 SeAlesapa sapeplu3 se| ap ajualwinajepiod [a eed sauoipepody 8p opucd gy
0008 0008 0008 00'0% 00°0% 00°0% |esaps4 ojsiqg 8p A sopejs3 so| ap Baland pepunbag e eied sauoisepody ep opuod "2y
0008 00°0% 0008 00'0% 00°0% 000 s0)inpy ap £ eaibojouna] ugjoeanp3 e| eled sauojoejody sp opuod "gy
0008 00°0% 00°0$ 00'0% 00°0% 0008 sajdny saucioepody 8p Opuc "Gy

i TG T S P S— —— |elapa oS! |8p SejeUOjuIa )
00'28L'12E$ 00°L0OE'90b'P$ 00°L0E'90Y'P$ 00'LOE'30¥'v$ 00°2eL'12E$ 00°695'v80°YS seuoEsIBWaE 88 3 A SOIIBIUNYY 50| P OjUBIIDBIELOS @ eled SaujEyGdy 8p OpLOY By
00°0L6'960°E$ 00'5%1'202'614 00'5%L'202'61% 00'5PL'Z02'618 00°016'360'¢$ 00'6£2'501°01$ |ela0g BIN)INUISEEIU) B Bled sauojoepody 6p 0puod 'Y
a0'0$ 00°0% 00°08 00°0% 00'0$ 000$ pnjeg ap solajalag so| eied seucjoepody 8p 0puod 2y
0008 00°0% 00°08 00°0% 00'0% 00°0% oaneladQ ojseg A eaneanp3 BUlWON el Bled seuojoepody ep opuod ‘LY
00°Zr9'8L¥'es 00°9%7'809'€2$ 00°9v¥'809'€Z$ 00°9¥b'809'¢2$ 00°'2v9'8LY'ES 00°'708'681°02% sauoloepody 'y
00'Zra'8LY'Es 00°9¥¥'809'sZ$ 00°9b¥'809'6Z$ 00°9¥'209'€2$ 00°2r9'8Ly'ss 00'008'681°02$ sepejanbp3 saje1apad seloUBIaJSURIL
00'Zp9'8LY'ES 00°9vt'809'62$ 00°9¥¥'209'22$ 00°9¥'209'€2% 00°Zr9'aLY'es 00'b08'681°02% ugjajsadsig i ap sosaiBul sy sejuspadxa soaaIbu|
1S'PL6'Z91LS 69°589'EKZ LIS 69'SSO'EHZ'LIS 6h'££9'19¢'81S 1£'262'082'28 81°180°L80°91$ ugloisods|q #1ar 8p sosaiful op 1oLl
0008 0008 Q008 0008 0008 000% ugiaisadsiq 21qr] ap sosaibu| sono ‘21
00°0% 0008 Q0'0% 0008 00°0% 00°0% sa|ea07] sosalfu| ua ssuopedpiiied |1
0008 00704 0008 000% 00°0% 00°08 ugjaisads|g 81q)7 ep sosasBuj sonQ 1
0008 a0'0s 00°0% 00°08 00°0% 00°0% SOIPISANS A SOJUBAUOD SONO ‘LY
00°0$ 0008 00°0% 00°0$ 00°0% 00'08 SOJuBAUOY "M
00°0% 00°0% 00°0% 00°0% 00'0% 0008 sauojoeubsy A sejouassysuel) o
00°0$ 00°0$ 00°0$ 00°0§ 00°0$ 00°08 SOOIWQUOST SOATUBU] 50110 Gl
00°08 00°0$ 00'08 00°0$ 0008 0008 soipawisjul-sodaday op ugoesuadwoy ap opuo4 "yl
00°0$ 00'0% 00°'0$ 00°0% 00°0$ 00'0% S0ABNN SIAQLIOINY 8Jq0g ojsandw “g|
09'585'292¢- Zr'e96'0z14 ZTL'€960Z18 2E°6p5'E8ES 00°0% Ze'6bs'eses NvS1 ugloesuadwog sp opuo4 “g|
sg'vees- ao'o$ 0008 sg'pzes 00°0% Sg'veds SO|MIYaA 8p oSN o EjousUa] ||
S7'018'2928 ZL'£96'0Z1$ ZL'E96'021L8 LV'pLL'E8ES 00°0% JIRIIN 1BOS|4 UQIaEIaqE|Q) B| 3P SOPRALIAQ SOANUadU] |
L€'906'Z1E$ L£'906'21£8 L£'906'Z1ES LE'906'ZIES LE'906'CLES 00°0% Sepluajey seuojdediolped ap uolonjoAsa g°H
69°'560'1288 25'6¥9°210'9L8 25°'6¥9°2L0°918 8r'SEPZIL'ILE $9°188'595° 1§ £8'E55'06L'G1$ sauolaedidjped [E10LANS V'H
a0'0$ 00°0$ 0008 0008 00°08 00'0% seAflelapa sepepiug Se| ap soseibu| sof op ugIEZ||iqe|sT ap Opuod “LLH
000$ 0008 00°0$ 00°08 00°0$ 00°0% ejuay e aiqog ojsandw| [ap opuod "0LH
12'889'5¥$- 09°658'125% 09'658'126$ L16'8p5'2958 00°'0% 1£°015'295$ 1asalq A seuljoses) “gH
00°0% 0008 0008 0008 00°0% 00°0% Qa|0i|ad 3p uQ|aIRIXT 81908 %.LL'E "8H
00'5£9'6658 00'6£9'665$ 00'G£9'6658 00'6£9'6658 00°G£9'665S 00°0% ajqedpied |e1apad ugpeEPNEIaY B| 8p %9EL"0 "LH
0Z'£58'89%- 62'186'0L2% 62°186'0128 BV ¥ER'612S 0008 6V VER'61CS S0pIAIBG A UQIKANPOI B1q0g [eads3 ojsandw) 'gH
82120218~ 29'PL0'06% Z9'720'06% 06'860'222% 000% 06'860'222% S0INQJB0IPIH P UGIIIBIIXT 8P OPUCH "SH
00°0$ 0008 00'0$ 000$ 00'0$ 00°0% ugiesuadwog sp opuod "vH
£6'G2K'8014- 657622'8158 65'622'815% 25'669'929% 00°0% 25'659°929% ugiaepneaay A ugjoez|eas|d sp opuod ‘gH
81'E61'68E5 62°169'0£c'2$ 62'1L69'0£2'28 25'581'029'2% 00°0% 16°68%°029'28 lediojuniy ojuauiod ap opuod "ZH
59'9v2'996% £9°221'0P8' 1S €9°221'9p8°LLS £9°221'918'LLS $9°'9¥2'996% 86'0£6'628'0L8 sauojaedale  op [Blausg opuad “LH
00'Z00'PEL'LS £8'555'02€'01$ £8°555'02€'91$ 6L IPE'SL0'LMS 96'291'3.8'L$ £8°655'961'6L$ sauopedjoiped *H
00°0% 000% 00°0$ 00°0$ 0008 0008 S0[9|AIB8S 8p UQIOB)Sald A Saualg ap sejusp tod sosaibul '
000$ 00°0% 000% 00°0$ 00'0% 00°0% sojusjweyoaroidy ‘4
59°212'688 p9'061'56% +9'06%'56% 0F'95L'9518 LWEPS'00LS 66'212'95% sojonpoid '3
L1592 /81S ST152'29es ST 152°29E8 0£'9F9'68ES gL°091'vizs PL98p'SLLS soyaaleqg ‘g
00°0% 000$ 00°0% 000% 00'0$ 00°0$ seiofajy 2p sauojonguog 9
0008 00'0% 0008 00°08 00°0% 00'0% |ejo0g peplnbag ap sauojsepody £ sejon) 'g
0Z'0va'v9% ST PE8'EEES G2 p6R'EEES £8'vie'ases 82092283 50'v50'6924 sojsanduwy) 'y

ugjajsods|q a1q)7 ap sosaibu)
ejousialiq opepneasy. 5 opeBuaiag apesyipol wnmﬂﬁn_wﬂd“mwﬂ apew)jsy ojdasuog
oseJbu) - 2

610 @p 21qwejap ap | |2 013ua ap | [aq

4Q71 - ope||ejaq sosaibuj ap 09|

ebujoeysy




15°912'185'p$
00°0%
000%
00°0%
00°Zra'sLY'es
0008
0008
00'0%
00'0%
00°0%
00°0$

69'101'258'0%$
00°0%
00°0$
0008
00°9p¥'809'€Z$
00°0%
00°0$
0008
0008
00°0%
00°0%

69°L01°258'00$
00708
00°0%

00°0$
00°9vF'009'¢2$
00'08
00'0%
00°08
00°0$
00°0%
00'0%

60'622'026' V¥
0008
00°0$
0008
00°9v+809'€Z$
00708
00°0%
00°0$
0008
00°0%
00'0%

WEA 'VONIOVLE)

OIONLULSNOD OLNBEVLNNAY H
oy¥3YOosIL
YNHYOY YITHYIND ONITVAOVW D

AVdIDINAN JLNAAISIUd
VYNH3LI Z3HINYY OINOLNY "d40ud

77 NW\“. ) 7

LE'P6E'669'5S
00°0$
00°0$
00°0$
00°ZPo'BIY'ES
0008
00°0$
00°0$
00°0$
00'0$
00'0$

81'588°012'0¢%
00'0%
00°0%
0008
00'708'681'02%
00'0%
00°0%
00'0%
00°0%
00'0%
00'0%

T2 + | = £) SOJUBNIEIOUELI] op SopeApeq sosalbul € |
sepejenbi3
sojelepad SelUaIajsuBl) ap obed ep ejuan4 UGO SOJUB|WEIOUBULY 3p sopeAlia Ssosalbu| g
ugioisodsiq 21q17 ap sosaibu| sp obed ep sjuan, ucd sojusiWElDUEULY 8D SOPEALE(Q sosaibu| *|

SOAjEULIOJU] SOjBQ
sosaibu| ap |Bjo] “Al

sojuslWe|duUBUl4 8P SopeAlaq sosaibu) 'y
sojuajwejaueuly ap sopealag sosaibu) |||

sepejanbi)3 sejejelsg sejoualejsuel) 8p [ejo) 'Bj|
sepejenbyg se|elsped sejouaiajsuel] ap B30l )l

sepejanbi)g sejelapad sejoualajsuel] senp ‘3

sauoe|gnr & ssuoisusd A 'seuoiousaqng A solpisqng 'selouaissuel) °Q

olau|y opuod ‘2D

$0INQIED0IPIH 8p Salojanpold soidiojuniy A sealesapa ] sapepiu3 eied opuod LD
sauojepody ap sojulsig Sopuod "D

soueuipioenx3 sosalbu| *L'vg




